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Enrollment No: _______________________         Exam Seat No:_______________________ 

C.U.SHAH UNIVERSITY 
Summer Examination-2016 

 

Subject Name: Engineering Drawing 
 

Subject Code: 2TE02END1                      Branch: Diploma(All) 

    

Semester: 2        Date: 11/05/2016            Time : 10:30 To 01:30           Marks :70 

Instructions: 

(1) Use of Programmable calculator & any other electronic instrument is prohibited. 
(2) Instructions written on main answer book are strictly to be obeyed. 
(3) Draw neat diagrams and figures (if necessary) at right places. 
(4) Assume suitable data if needed. 

 
Q-1  Attempt the following questions: (14)  

 a)  W        A cone cuts by a cutting plane parallel to its base, the shape of the cut surface is, 

 (a)  an ellipse. (c) a hyperbola. 

 (b) a parabola. (d) a circle 

 

 b)  The full form of BIS is, 

(a)  British India Standard. (c) Bureau of Indian Standard. 

(b)  Basic Indian Standard. (d) Bureau of intelligent Standard. 

 

 c)  To draw circles and arcs in drawing sheet, 

 (a)       divider is used. (c) compass is used. 

 (b) protractor is used. (d) French curve is used. 

 

 d)  In a Set-square two angles are 30˚ and  60˚, while third angle is, 

 (a)  45˚ (c)    100˚ 

 (b) 90˚ (d) 120˚ 

 

 e)  Dimensions of a title block is, 

 (a) 185 x 45 mm. (c) 185 x 65 mm. 

  (b) 185 x 55 mm.            (d) 185 x 75 mm 

 

 f)  To show hidden edges, line used is 

 (a) center line.  (c) dimension line. 

 (b) dotted line.  (d) construction line. 

 

 g)  In a drawing, scale is shown 1:1, it indicates the scale is 

    (a)  half scale. (c)  enlarging scale. 

 (b) reducing scale.  (d) full scale.      

 

 h)  To divide a circle into 12 equal parts, 

 (a) compass can be used.                    (c) protractor can be used. 

 (b) 30˚-60˚ set-squares can be used.   (d) all of the above can be used. 

 

 i)  A regular pentagon has, 

 (a) four sides and four corners. (c) four sides and five corners. 

 (b) five sides and four corners. (d) five sides and five corners. 
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 j)  When eccentricity is less than 1 (one), the curve is 

          (a)  an ellipse. (c) a hyperbola. 

          (b) a parabola. (d) none of the above. 

 

 k)  If a position of a point is below HP and infront of VP, than point is in 

 (a)  first quadrant. (c) third quadrant. 

 (b) second quadrant. (d) fourth quadrant. 

 

 l)  In a top view, which dimensions  can be read from the following, 

 (a) length and width. (c) length and height. 

 (b) width and height. (d) none of the above.  

 

 m)  What is the meaning of CAD in AutoCAD? 

 (a) Computer Aided drawing. (c) Computer Aided Drafting. 

 (b) Computer Aided Designing. (d) all of the above.  

 

 n)  To draw a same image in AutoCAD which command is used? 

 (a) Line.  (c) Trim. 

 (b) Copy.  (d) Hatch. 

 

Attempt any four questions from Q-2 to Q-8 

Q-2  Attempt all questions (14) 

 (A) Construct a Diagonal scale of RF = 3:200 showing meters, decimeters and 

centimeters. The scale should measure up to 6 meters. Show a distance of 4.56 

meters 

(07) 

 (B) Draw an ellipse having major and minor axis of 90 mm and 60 mm respectively. 

Use “ Arc of a circle method”  

(07) 

Q-3  Attempt all questions (14) 

 (A) Illustrate different type of lines and their uses in engineering drawing. (07) 

 (B) Construct a regular pentagon having side 30 mm using general method. (07) 

Q-4  Attempt all questions (14) 

 (A) Draw an Archimedean spiral for one convolution, taking smallest and greatest redii 

being 12 mm and 84 mm respectively. 

(07) 

 (B) Draw an Involute of a square having 25 mm side.  (07) 

Q-5  Attempt all questions (14) 

 (A) A line CD is 65mm long, has its end point C 15 mm above HP and 10 mm infront 

of VP and point D is 45 mm above HP and 50 mm infront of VP. Determine true 

inclination of CD with HP and VP. 

(07) 

 (B) A line AB, 60mm long, is inclined at an angle of 45º to HP and 30 º to VP. One of 

its end point A is in HP as well as VP. Determine its apparent inclinations. 

(07) 

Q-6  Attempt all questions (14) 

 (A) A circular plate of diameter 80mm is resting on a point of its periphery on HP such 

that its makes angle of 40 º to HP and the diameter passing through the point of its 

resting on HP makes an angle of 60 º with VP. Draw the projections of it.  

(07) 

 (B) A square lamina of side 80mm rests on a corner on HP and it is inclined with HP 

such that its plan is a rhombus with diagonal of 40mm. The long diagonal is 

inclined with the VP at 45 º. Determine its inclination with HP and draw its 

projection. 

(07) 
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Q-7  Draw the front view, top view and RHSV of figure 1 using first angle projection 

 

 method.  

(14) 

Q-8  Draw the isometric view of figure 2. (14) 
 

 

 
                                                                                 Figure 1 

 

 
                                                                           Figure 2 

 

 

 

 

 

 



Page 4 || 7 

 

 

 

 

 

 

 
Q-1  ફધા પ્રશ્નોના જલાફ આ઩ો (14)  

 a)  ળકુંના ઩ામાને સભાતંય કટિંગ પ્રેનથી કા઩લાથી ભ઱તો આકાય કેલો હળે ? 

(a) ઉ઩લરમાકય  

(b) ઩ેયેફોરા 
(c) હામ઩યફોરા 
(d) લર્ુ઱ુ 

 

 b)  B I S નુ ંપરંુૂ નાભ 

(a) બ્રિટિળ ઈન્ડિમન સ્િાડિિુ  

(b) ફેસસક ઈન્ડિમન સ્િાડિિુ  

(c) બ્યયૂો ઓપ ઈન્ડિમન સ્િાડિિુ  

(d) બ્યયૂો ઓપ ઇંિીરેજિં સ્િાડિિુ 

 

 c)  ડ્રોઇગ ળીિભા ંલર્ ુ઱ુ અને ચા઩ દોયલાભાિે , 

(a) િીલાઈિયનો ઉ઩મોગ 

(b) કોણભા઩કનો ઉ઩મોગ 

(c) કં઩ાસનો ઉ઩મોગ 

(d) ફં્રેચ કલુનો ઉ઩મોગ 

 

 d)  સેિ-સ્્લેયભા ં૩૦ º અને ૬૦ º ના ફે ખણૂાઓ છે,  તો ત્રીજો ખણૂો કેિરો હળે? 

(a) ૪૫ º 

(b) ૯૦ º 

(c) ૧૦૦ º 

(d) ૧૨૦ º 

 

 e)  િાઇિર બ્રોકનુ ંભા઩, 

(a) ૧૮૫ x ૪૫ ભીભી 
(b) ૧૮૫ x ૫૫ ભીભી 
(c) ૧૮૫ x ૬૫ ભીભી 
(d) ૧૮૫ x ૭૫ ભીભી 

 

 

 f)  ન દેખામ તેલી ધાયને દળાુલલા કઈ રાઇન લ઩યામ? 

(a) સેડિયરાઇન 

(b) ર્િૂકરાઇન 

(c) િાઈભેળનરાઇન 
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(d) કંટ્રક્ષનરાઇન 

 g)  ડ્રોઇગભા ં, જો સ્કેર ૧:૧ દળાુલેર હોમ તો તે શુ ંફતાલે છે? 

 

 

(a) હાલ્પ સ્કેર 

(b) યેિયસુળંગ સ્કેર 

(c) એડરાર્જ સ્કેર 

(d) ફુર સ્કેર 

 

 h)  લર્ુ઱ુને સયખા ૧૨ બાગભા ંલહચેલા ભાિે  

(a) કં઩ાસનો ઉ઩મોગ કયી ળકામ  

(b)  ૩૦ º અને ૬૦ º સેિ-સ્્લેયનો ઉ઩મોગ કયી ળકામ  

(c) કોણભા઩કનો ઉ઩મોગ કયી ળકામ  

(d)  ઉ઩યના ફધાનો ઉ઩મોગ કયી ળકામ  

 

 i)  સનમસભત ઩ચંકોણ ઩ાસે, 

(a) ચાયફાજુ અને ચાય ખણુાઓ 

(b) ઩ાચંફાજુ અને ચાય ખણુાઓ 

(c) ચાયફાજુ અને ઩ાચં ખણુાઓ 

(d) ઩ાચંફાજુ અને ઩ાચં ખણુાઓ 

 

 j)  જ્માયે ઉત્કેડરતા ૧ (એક) કયતા ંઓછી હોમ તો , તેલા કલુને શુ ંકહલામ? 

(a) ઉ઩લરમાકય 

(b) ઩ેયેફોરા 
(c) હામ઩યફોરા 
(d) ઉ઩યના કોઈ઩ણ નહં 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 k)  જો કોઈ બ્રફંદુન ુ ંસ્થાન H P ની નીચે અને V P ની આગ઱ હોમ તો, તે બ્રફંદુ 

(a) પ્રથભ ચયણ 

(b) ફીજુ ંચયણ 

(c) ત્રીજુ ંચયણ 

(d) ચોથુ ંચયણ 

 

 l)  નીચેભાથંી કમા ંભા઩ , ઉ઩યના દેખાલભા ંલાચંી ળકામ? 

(a) રફંાઈ અને ઩હો઱ાઈ 

(b) ઩હો઱ાઈ અને ઊંચાઈ 

(c) રફંાઈ અને ઊંચાઈ 
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(d) ઉ઩યના કોઈ઩ણ નહં 
 

 

 

 
 m)  C A D નો અથુ A u t o C A D શુ ંથામ? 

(a) કોમ્પપ્યિુય એિેિ ડ્રોઇગ 

(b) કોમ્પપ્યિુય એિેિ ટિજાઇસનંગ  

(c) કોમ્પપ્યિુય એિેિ ડ્રાફ્ટિંગ 

(d) ઉ઩યના ફધા 

 

 n)  A u t o C A D ભા ંસયખી આકૃસત દોયલા કમા ંકભાડિનો ઉ઩મોગ થામ છે ? 

(a) રાઇન 
(b) કો઩ી 
(c) ટ્રીભ 
(d) હચે 

 

કોઈ ઩ણ ચાયના જલાફ રખો. 

Q-2  ફધા પ્રશ્નોના જલાફ આ઩ો (14) 

 (A) િામાગોનર સ્કેર દોયો, જેભા ંR F = ૩ : ૨૦૦ ભા ંભીિય, િેસીભીિય અને સેન્ડિભીિય દળાુલેર છે. આ 
સ્કેર દ્વાયા ૬ ભીિય સધુી ભા઩ી ળકામ છે, તો ૪.૫૬ ભીિય દળાુલો 

(07) 

 (B) ભોિી ધયી અને નાની ધયી અનકુ્રભે ૯૦ ભીભી અને ૬૦ ભીભી હોમ તેવુ ંઇબ્રરપ્સ દોયો. 
“લર્ુ઱ુની ચા઩ની યીત” નો ઉ઩મોગ કયો. 

(07) 

 

 

 

 

 

 

Q-3  ફધા પ્રશ્નોના જલાફ આ઩ો (14) 

 (A) યેખાના સલસલધ પ્રકાય, તેના એન્ડજસનયંગ ડ્રોઈંગભા ંસલસલધ ઉ઩મોગ સાથે સભજાલો. (07) 

 (B)  જનયર ભેથિનો ઉ઩મોગ કયી ૩૦ ભીભી ફાજુલા઱ો સનમસભત ઩ચંકોણ દોયો  (07) 

Q-4  ફધા પ્રશ્નોના જલાફ આ઩ો (14) 

 (A) નાની ત્રીજમા ૧૨ભીભી અને ભોિી ત્રીજમા ૮૪ભીભી ભાિે એક કોડલોલ્યળુન ભાિે આકીભેિીઅન 
સ્઩ાઇયર દોયો. 

(07) 

 (B) ૨૫ભીભી ફાજુલા઱ા ચોયસનો ઇનલોલ્યિુ દોયો. (07) 

Q-5  ફધા પ્રશ્નોના જલાફ આ઩ો (14) 

 (A) રાઇન C D ની રફંાઈ ૬૫ભીભી છે. તેનો એક બ્રફંદુ C  ,H P ની ૧૫ ભીભી ઉ઩ય અને ૧૦ભીભી V P ની 
આગ઱ છે, અને બ્રફંદુ D , H P ની ૪૫ ભીભી ઉ઩ય અને ૫૦ ભીભી  V P ની આગ઱ છે. તો રાઇન C D 
ના સાચા ખણૂાઓ H P અને V P સાથે ળોધો. 
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 (B) ૬૦ભીભી રાફંી યેખા A B , H P સાથે ૪૫ º નો ખણૂો અને V P સાથે ૩૦ º નો ખણૂો ફનાલે છે. તેભાનુ ં
એક બ્રફંદુ A , H P અને V P ભા ંછે.તો તેના એ઩યંિ ખણૂાઓ ળોધો 
 
 
 

 

Q-6  ફધા પ્રશ્નોના જલાફ આ઩ો (14) 

 (A) એક ૮૦ભીભી વ્માસની લર્ુ઱ુાકાય ચકતી તેના એક બ્રફંદુ ઩ય તેના ઩ટયઘ ઩ય એલી યીતે ઩િેર છે , કે 
જેથી H P  સાથે ૪ ૦ º નો ખણૂો ફનાલે છે, અને તે બ્રફંદુભાથંી ઩સાય થતો વ્માસ  V P સાથે ૬૦ º નો 
ખણૂો ફનાલે છે.તો તેના પ્રક્ષે઩ો દોયો. 

(07) 

 (B) એક ૮૦ ભીભી સાઈિ ધયાલતી ચોયસ ચકતી તેના એક ખણૂા ઩ય H P ભા ં઩િેર છે. 
તે H P સાથે એલી યીતે ખણૂો ફનાલે છે કે જેથી તેનો ઉ઩યનો દેખાલ ૪૦ભીભી સલકણુ ધયાલતો યોમ્પફસ 
( સભચર્રુ્ુજુ) ફને છે. તેનો રાફંો સલકણુ V P સાથે ૪૫ º નો ખણૂો ફનાલે છે. તો તેનો H P સાથેનો 
ખણૂો અને તેના પ્રક્ષે઩ો દોયો. 

(07) 

Q-7  પ્રથભ કોણીમ પ્રક્ષે઩ ની યીતે આકૃસત ૧ નો સાભેનો દેખાલ , ઉ઩યનો દેખાલ અને જભણીફાજુનો દેખાલ 
દોયો 

(14) 

Q-8  આકૃસત ૨ નો આઇસોભેટટ્રક ડ્રોઇગ દોયો.  (14) 

 

 

 

 


